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2A:

X XH -
o=

eV
PPN
olg=x S

29: (Erel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 289,574
=S 43,503
Al 84,002
307 @I2to| & 417,079 465,390 A\48,311
[ 289,574
= 43,503
Al 84,002
1 AMISXAIEEXS 417,079 465,390 48,31
MEdE NEE2g 417,079
[ 289,574
= 43,503
Al 84,002
MEHE SAHG MIH&E] XI& 19,320 19,320 0
=S 5,7%
Al 13,524
307 @I2to| & 19,320 19,320 0
== 5.7%
Al 13,524
10 Al2ISTIAIEEE 22X 19,320 19,320 0
NEHE SAEAE MLIHEEl X
19,320,000 19,320
= 5,7%
Al 13,524
= X 8,000,445 6,922,99% 1,077,450
= 1,108,822
Il 1,889,129
== 647,821
Al 4,354,673
JSESAE 2EXE 17,000 40,000 /23,000
307 212+01& 17,000 40,000 A\23,000
10 Al2ISTIAIEEE 22X 17,000 40,000 /23,000
UsESAE 2SR 17,000
ASIHH 2E(EX) 23,269 0 23,269
= 6,981
Al 16,288
307 el2tol & 23,269 0 23,269
= 6,981
Al 16,288
10 AlISXAZEE 22X 23,269 0 23,269
ASIHH 2E(EX) 23,269
== 6,981
Al 16,288
IHE =AML 2SR 42,800 35,000 7,800




2A:

ME: 01
&2l JIEE X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 42,800 356,000 7,800
10 Al SXAIEEHE 22X 4,800 0 4,800
HEIIESESELEUH ALRA OlA 4,800
11 AMEISXAIEES 38,000 35,000 3,000
IERIIZS ARE2™ 10,000
e 828 olgus € T2 25,000
2xF S UloH Ol 2 XI2Ar 3,000
HEE=H dga 28 A 214,418 212,412 2,006
Jl 107,209
== 53,605
Al 53,604
307 212+01& 214,418 212,412 2,006
Il 107,209
=S 53,605
Al 53,604
10 Al SXAEEE 22X 214,418 212,412 2,006
s - 855 4E4 23| 214,418
Jl 107,209
= 53,605
Al 53,604
=S Lokt A=se=S22 08 2,918 2,500 418
Il 2,042
= 438
Al 438
307 gl2to| & 2,918 2,500 418
Jl 2,042
= 438
Al 438
11 AMEISXAIEEXS 2,918 2,500 418
JHEEE okt X=els 228 2,918
) 2,042
< 438
Al 438
JHE=ZE Dbl At nEXSEZ 3,000 3,000 0
Il 2,100
S 450
Al 450
307 glztol & 3,000 3,000 0
Il 2,100
== 450
Al 450
11 AMRISXAEEES 3,000 3,000 0
JHE =S Jtol At nExs T2 3,000




2A:

ISR
=

B 0MIIE U B
&2l JIEE X (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| 2,100
T 450
Al 450
g=0IoH A 22| XI& 1,500 2,000 2500
| 1,050
T 225
Al 225
307 2I2+01™ 1,500 2,000 AB00
| 1,050
& 225
Al 225
11 AL =SXAMSEES 1,500 2,000 2500
SZSTIoiA 22| XI& 1,500
| 1,050
& 225
Al 225
A= 2HAIE SAHA 2148 =IHXIA 67,590 57,851 9,739
T 20,277
Al 47,313
307 2I2+01™ 67,590 57,851 9,739
& 20,277
Al 47,313
10 IS SXAIEHE2ZHIEX 67,590 57,851 9,739
HEZH2HAE SALA QABIFIOHAA 67,590
= 20,277
Al 47,313
HEZ=H2HAALE SAX "R 9,720 8,79 921
& 2,915
Al 6,805
307 212+01™ 9,720 8,79 921
T 2,915
Al 6,805
10 Al = XA EEHE2FHIE X 9,720 8,79 921
HAEZZ2AHAIE SAEA HRIHAHI 9,720
= 2,915
Al 6,805
HEZH AL SAK ASAHI 5,040 3,364 1,676
& 1,512
Al 3,528
307 212+01 ™ 5,040 3,364 1,676
& 1,512
Al 3,528
10 Al S XA EEHER2IHIE X 5,040 3,364 1,676




A JEEXE D

=
Hy: OlHIIE Y B8

el JE X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HEZH2ABAE SAHA FAHSAH 5,040
= 1,512
Al 3,528
SHUOHIIS KSEsIt &8 At 12,750 12,750 0
=S 3.825
Al 8,925
307 21201 & 12,750 12,750 0
< 3.825
Al 8,925
11 AMEISXAEEES 12,750 12,750 0
e, 4= ToiotE NGgstedd 83
el Ak 12,750
= 3,825
Al 8,925
CINEL=S LohAt HEA2E & el =29 809 1,360 2551
= 243
Al 566
307 @I2t01 & 809 1,360 551
== 243
Al 566
11 AMRISXAEEES 809 1,360 Ab551
CXEd=e Lokt el xgde 24 809
< 243
Al 566
JIEHE A (RHA) 2,582,000 0 2,582,000
401 AlZHIZ S 0HbI 2,582,000 2,582,000
01 Al&H| 2,582,000 2,582,000
JIEHE AGAE 2,582,000
JIEHEH 28 431,801 68,640 363, 161
201 fer=3| 4,000 0 4,000
02 s3=gHl 4,000 0 4,000
IEHE AlEE SAI2 (X)) 4,000
307 elztol & 121,801 68,640 53,161
10 AlRISTIAIEEE 22X 121,801 68,640 53,161
NEBHE (SSS0tLSHE, FHBEM2)
A& OfAk 16,000
JHEHE AlE ], 2 88,601
JIEHE AR SXts 17,200
401 AIEHIZ SR 0HYI 62,000 62,000
01 Al&HI 62,000 62,000
JHEHIE A SRS 62,000
405 AHaHE = 244,000 244,000
01 It =S F = 244,000 244,000




2A:
X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2

| JI=dE 215 2 244,000

IIEHH2E(EX) 446,537 515,940 269,403
) 223,269
& 66,980
Al 156,288

307 glztol & 446,537 515,940 69,403
Jl 223,269
< 66,980
Al 156,288

10 Al2ISTIAIEEE 22X 446,537 515,940 269,403
JtEHIE 23l 446,537
Jl 223,269
=S 66,980
Al 156,288

101047 XA 20,000 10,000 10,000
& 6,000
Al 14,000

307 glztol & 20,000 10,000 10,000
= 6,000
Al 14,000

11 AMEISXAIEEXS 20,000 10,000 10,000
1010t X2 20,000
= 6,000
Al 14,000

JEEHE SAEL 2148 F=IOHKIE 16,080 9,657 6,423
[ 4,824
Al 11,256

307 elztol & 16,080 9,657 6,423
= 4,824
Al 11,256

10 Al SXAIEEHE2EHI 22X 16,080 9,657 6,423
JISHE SAHAL e124H| =K 16,080
= 4,824
Al 11,256

JESHIE SAK M4 28,080 28,800 AT20
== 8,424
Al 19,65

307 212+01™ 28,080 28,800 AT20
[ 8,424
Al 19,656

10 Al2ISTIAIEEE 22X 28,080 28,800 AT20
JHEHIE SAHR XM2IHEH 28,080
= 8,424




2A:

ISR
=

B OIS ¥ BN
el JE X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 19,656
JISHIE SAK EH=4H| 16,800 12,000 4,800
== 5,040
Al 11,760
307 212+01& 16,800 12,000 4,800
< 5,040
Al 11,760
10 Al SXAEEHE2EHI2x 16,800 12,000 4,800
JHEHIE SAHAE ZASAH 16,800
= 5,040
Al 11,760
ChEshtd K& 40,000 60,100 A20,100
307 @120l & 40,000 60,100 A20,100
1 AMISXAIEEX 40,000 60,100 /20,100
ZE012A Y& =0 U= 25,000
CtE3t QIAHA SHeteiAb 15,000
CtEsttd a2 & e 288,610 288,611 A
Jl 144,303
== 43,293
Al 101,014
307 212+01& 288,610 288,611 A
Jl 144,303
=S 43,293
Al 101,014
11 AMISXAIEEX 288,610 288,611 A
Ct=23t SatAte 273,110
Jl 136,553
= 40,968
Al 95,589
ZE0[2X SEHeHA 15,500
Jl 7,750
= 2,325
Al 5,425
CHERIE SIHIIA 92,667 112,667 220,000
== 27,800
Al 64,867
307 212+01& 92,667 112,667 /20,000
< 27,800
Al 64,867
11 AMEISXAEEE 92,667 112,667 220,000
CHE3 0SS AIE 92,667
= 27,800
Al 64,867




SA X2
B OlaOlE U 28
&2l JIEE X (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ESEds XA 94,912 98,950 A4,038
= 47,456
== 14,237
Al 33,219
307 212+01& 94,912 98,950 A4,038
= 47,456
=S 14,237
Al 33,219
11 ARRIS XA E X 94,912 98,950 AN4,038
HNEALS LSRR (F LRI INEXEAS) 94,912
2 47,456
= 14,237
Al 33,219
SSF0tU=sE 2 56,712 55,194 1,518
Jl 28,356
= 8,507
Al 19,849
307 gl2to| & 56,712 55,194 1,518
Jl 28,356
= 8,507
Al 19,849
11 AMEISXAIEEES 56,712 55,194 1,518
SSS0U=H 22 56,712
) 28,356
< 8,507
Al 19,849
MHE2E sl2LD| 18,900 4,800 14,100
= 5,670
Al 13,230
307 gl2to| & 18,900 4,800 14,100
=S 5,670
Al 13,230
11 ARRIS XA E X 18,900 4,800 14,100
HItHEZ al2Lt=II 18,900
< 5,670
Al 13,230
otol=SXIH 1,500,500 1,500,500 0
= 1,050,350
== 135,045
Al 315,105
307 212+01& 572,468 572,468 0
= 400,728
=S 51,523




SA: JIEXAD
=L IENVIEpIEETREE

el JE X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 120,217

11 AMEISXAEEXS 572,468 572,468 0
oolsE =234l 572,468
= 400,728
= 51,523
Al 120,217

308 XM SOIE 928,032 928,032 0
= 649,622
= 83,522
Al 194,888

18 SIS0t HAS A 928,032 928,032 0
oolIss A& 928,032
= 649,622
& 83,522
Al 194,888

SRS NHYSH S X& 1,710,000 1,710,000 0
) 1,368,000
< 171,000
Al 171,000

301 EtE NS 1,710,000 1,710,000 0
Jl 1,368,000
== 171,000
Al 171,000

01 AR 2EHSHS(RNEXRTH) 1,710,000 1,710,000 0
SHRERIIE X4 2= 1,710,000
Jl 1,368,000
=S 171,000
Al 171,000

a4 S22 NEXE 16,000 17,000 21,000
Jl 12,800
=S 1,600
Al 1,600

301 Eet2 NS 16,000 17,000 1,000
Jl 12,800
= 1,600
Al 1,600

01 Al EE A S (2 RDEXA) 16,000 17,000 A1,000
ad 22 SX30 16,000
Il 12,800
= 1,600
Al 1,600

FAERLD ots&=H N2 22,032 43,200 N21,168
= 11,016
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SA X2
B OlaOlE U 28
Rl ESAE 28 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SSNAY 0rSHEl 20t
30,0002 *100E 12 3,000
307 gl2to| & 47,200 44,200 3,000
02 2B YA AR A 4,000 4,000 0
2FQ S WF 4,000
04 QIZHHAMAIH 2 £ 10,200 10,200 0
2F09 & 10,200
06 2= 33,000 30,000 3,000
Oelold & BHE 280t 33,000
Oelold ResitE sS4 56,250 63,750 A7,500
206 Tl 56,250 63,750 A7,500
01 =l 56,250 63,750 A7,500
OIRI0IE S4542 PN
15024 *1,5002 250 56,250
UMMl Oofelold A& 22,500 25,000 2,500
307 @I2t01 & 22,500 25,000 22,500
10 AlRIS XA EEE 22X 22,500 25,000 22,500
GOl 4=012l01E ]
500,0003 x450 A+12] 22,500
Oelold dsst XA 130,000 140,000 10,000
307 elztol & 130,000 140,000 10,000
11 AMEISXAIEEXS 130,000 140,000 10,000
Olelold edstst 100,00024*1,300H 130,000
ORIHEE Olelold A& 6,000 6,000
307 @20l & 6,000 6,000
10 AlRISXAZEE 22X 6,000 6,000
ORIAEE Ofelold =9
300,000 2004 A 6,000
02lold EsuEA M| 1,000,032 1,069,020 A\58,988
301 LEIE NS 492,000 562,000 260,000
14 IIEt2 8= 492,000 552,000 60,000
QIREIE SAWAL MRMEHI
100,000 x 1402 * 122 168,000
OElolE ESwAb MR
100,000& *270E « 122 324,000
307 212+01& 508,032 507,020 1,012
11 AMRISXAEEES 508,032 507,020 1,012
SIZIIEOII01E EZ WAL 12H] K&
392,000 x108E « 12 508,032
oelold Xezg N 36,000 36,000 0
307 elztol & 36,000 36,000
10 Al SXAAEEHE2EHI2x 36,000 36,000
=001y 2HA 212
1,500,000 x1&* 122 18,000




2A:

B OlaOlE U 28
Rl ESAE 28 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EN ER ENEFE T
500,000& «3H*12& 18,000
SEOE0IE JIs22 20,000 240,000 /220,000
201 er=23y| 10,000 10,000 0
02 S3=gHl 10,000 10,000 0
SEOR0IE AMEEHIRX
1,000,000 #1000 2 10,000
401 Al HIZL S 0HYI 10,000 10,000
01 Al&HI 10,000 10,000
SEO0IE JIsEZA AAIEAH
5,000,000 *27H 2~ 10,000
365 24A1 AIZHHI 2= AL 179,044 179,044
301 LEtE N = 8,640 8,640
14 JIEt 2 a3 8,640 8,640
AZEHIE S S WA =&
180,000 x4 x 12 8,640
307 212+01& 170,404 170,404
11 AMRISXAEEES 170,404 170,404
ARMNIES Q12 & 24| 170,404
o Zs=g X2 374,390 324,361 50,029
= 243,354
== 65,518
Al 65,518
301 22N = 374,390 324,361 50,029
= 243,3%4
= 65,518
Al 65,518
01 Al 2E A S(FRDEXMA) 374,390 324,361 50,029
s 374,390
= 243,354
= 65,518
Al 65,518
2250 (Hot=g) X 5,264,304 3,901,172 1,363,132
= 3,421,798
= 921,253
Al 921,253
301 EtE2 N = 4,964,304 3,901,172 1,063,132
= 3,226,798
= 868,753
Al 868,753
01 Al EEABZ2(2REEMR) 4,964,304 3,901,172 1,063,132
2220 (E3) N 4,964,304
= 3,226,798




2A:

JEESXIA

B OlaOlE U 28
Rl ESAE 28 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 868,753
Al 868,753
308 AXIHSOIA 300,000 0 300,000
= 195,000
< 52,500
Al 52,500
18 SIS0t 4 A A A 300,000 0 300,000
2220(E88) X 300,000
= 195,000
== 52,500
Al 52,500
oelold 2SR 108,814 109,320 506
= 54,406
== 27,204
Al 27,204
307 212+01& 108,814 109,320 A506
= 54,406
= 27,204
Al 27,204
11 AMISXAIEEX 108,814 109,320 A506
MDA M=l RPN 26,363
= 13,181
= 6,591
Al 6,591
Ag2dgdl X2 67,772
= 33,886
= 16,943
Al 16,943
SOHELT Eoloelold K& 14,679
= 7,339
= 3,670
Al 3,670
gdRotEEE K& 5,712,353 6,330,983 618,630
= 3,713,029
= 999,662
Al 999,662
307 el2to| & 20,000 14,000 6,000
= 13,000
= 3,500
Al 3,500
11 AMEISXAEEES 20,000 14,000 6,000
ANLAEBESE 14,000
= 9,100




A IEXIAD
M EIE € 2=
&t EFAE 29 (CH9: &S1)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
= 2,450
Al 2,450
2ts BR=2 6,000
= 3,900
= 1,050
Al 1,050
308 RXIHMSOIH 5,692,353 6,316,983 A624,630
= 3,700,029
= 9%, 162
Al 9%, 162
13 I 2SO E &R E AL 5,692,353 6,316,983 A624,630
02K SR0I2E=2 5,692,353
= 3,700,029
= 9%, 162
Al 9%, 162
3-5Ml Selntd X1 2,097,915 3,128,891 A 1,080,976
& 2,097,915
301 LEBNEF 231,980 266,000 A34,020
= 231,980
14 J|EtE A= 231,980 266,000 A34,020
35N SeltdE YA MRS 231,980
& 231,980
307 QI2H0| A 352,756 442,000 A89,244
& 352,756
10 Al SXAEHE2EHIEX 352,756 442,000 A89,244
35Al =elutd 24| X 352,756
= 352,756
308 AHXIHMSO0I& 1,513,179 2,420,891 A907,712
= 1,513,179
13 BI 2 SUIHEH B A XL EFALZH] 1,513,179 2,420,891 A907,712
35M el B2 XI# 1,513,179
& 1,513,179
WAP olAH| XI& 2,485,016 4,323,468 A 1,838,452
= 1,242,508
= 621,254
Al 621,254
301 LBBNZ 49,500 43,100 6,400
= 24,750
= 12,375
Al 12,375
14 JIEt2 43 49,500 43,100 6,400
HOHOts WAL = XA 49,500
= 24,750




2A:
X XH -
o e

=aak

JEEXI2 0
odotE € 2
2N 29

SIA - BE - OI(BIH) - NIRAIR - BA Ofl b G o HIR=2

= 12,375
Al 12,375

307 212+01™ 2,435,516 4,280,368 A 1,844,852
= 1,217,758
= 608,879
Al 608,879

11 Al SXAMEER 2,435,516 4,280,368 A 1,844,852
EsuAA 21AHd| K& 2,435,516
= 1,217,758
T 608,879
Al 608,879

B HHA K& 680, 155 769,970 A89,815
= 340,077
& 170,039
Al 170,039

301 LetEHZ 680, 155 769,970 A89,815
= 340,077
T 170,039
Al 170,039

14 J|IEtE A4S 680, 155 769,970 A89,815
SHEESWAL SEE22Y 109,428
= 54,714
& 27,357
Al 27,357
WARZS SHZ2ofadl ¥ RS X| A 570,727
= 285,363
& 142,682
Al 142,682

SX WAL, XA XI& 1,336, 146 1,510,8%4 A174,748
= 668,072
& 334,037
Al 334,037

307 212+01™ 1,336, 146 1,510,894 A1T74,748
= 668,072
& 334,037
Al 334,037

11 AR SXAMEES 1,336, 146 1,510,8%4 A174,748
EX(HE) WA XIS 1,196,023
= 598,011
= 299,006
Al 299,006
CHXI A XI& 140,123
= 70,061




2A:
X XH -
o e

=aak

eV
CIAIlE U B
SSAE 2

SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 35,031
Al 35,031
ARHHI ESAMHIA WS K& 88,940 96,506 AT,566
= 44,470
< 13,341
Al 31,129
301 EtE NS 4,320 4,320 0
= 2,160
== 648
Al 1,512
14 JIEt2 8= 4,320 4,320 0
ANZEHHIES S DA =&
180,000 x2& x 122] 4,320
= 2,160
== 648
Al 1,512
307 glztol & 69,565 68,667 898
= 34,782
s 10,435
Al 24,348
1 AR SXAIEE X 69,565 68,667 898
AZERIE ALY Q1AHl & 23| 69,565
= 34,782
= 10,435
Al 24,348
308 AHXIHMSO0IA 15,095 23,519 A\8,464
= 7,528
= 2,258
Al 5,269
18 S| 2SS ZB XA AIE 15,095 23,519 A\8,464
ANZHR 2852 15,095
= 7,528
= 2,258
Al 5,269
ooy e 366,404 100,000 266,404
[ 133,202
= 116,601
Al 116,601
402 2IZtA=01d 366,404 100,000 266,404
= 133,202
& 116,601
Al 116,601
02 QI X2 AL EE(0IHTHE) 366,404 100,000 266,404




2A:

JIEEXIA L

n: olea= 2 ==
&t EFAE 29 (CH9: &S1)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
O1RI0IE BN (SHEIHES, ZH 266,404
= 133,202
== 66,601
Al 66,601
OE0l& SZINE(RU20HE)
5,000, 000 *200H 2 100,000
= 50,000
Al 50,000
2T S+AE MY 3,219,386 3,822,371 602,985
== 965,816
Al 2,253,570
301 22N = 505,110 606,237 A101,127
[ 161,533
Al 363,577
14 JIEt2 8= 505,110 606,237 A101,127
Oelold Esudd 2254 N 487,510
= 146,253
Al 341,257
oot 25 =24 N2 17,600
= 5,280
Al 12,320
307 212+01™ 2,305,45% 2,752,195 A446,739
[ 691,643
Al 1,613,813
11 AMEISXIAEEES 2,305,456 2,752,19% N44B, 730
K&AIE SOtEH WAL QI24H] XI& 503,984
= 151,195
Al 362,789
oelold 25201 N3 537,234
= 161,170
Al 376,064
=0t s24H XA 201,000
[ 60,300
Al 140,700
ZOHOIEE Oel0ld XEAME20] X 12,338
= 3,702
Al 8,636
ZOHOIE 2 0121018 XtE=2dgH] XI& 7,800
== 2,340
Al 5,460
S38 0el0ld usSZdd X2 503,880
== 151,164
Al 362,716




2A:

n: oiE o wa
Rl ESAE 28 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2224 2234 X2 299,973
= 89,998
Al 209,975
ROIS8ds2e Z2HE 21,440
=S 6,432
Al 15,008
S38 Oel0ld MHEAHHE200 X2 98,707
< 29,612
Al 69,095
3% 0IXNAoeod Wt 26,600
= 7,980
Al 18,620
Ot wsBFNAHl X2 92,500
== 27,750
Al 64,750
308 XtXIEMSO0IE 408,820 463,939 AB5,119
= 122,640
Al 286,180
18 SIS0t oA AS A 408,820 463,939 55,119
Oeloly XEsE K& 408,820
= 122,640
Al 286,180
SSEO20IE X 402,000 439,074 A37,074
== 261,300
Al 140,700
307 212+01& 402,000 439,074 A37,074
< 261,300
Al 140,700
11 AMEISXAEEE 402,000 439,074 A37,074
S3E0ielolE X 402,000
= 261,300
Al 140,700
gits 258 NI 2,742 0 2,742
=S 2,742
307 glztol & 2,742 0 2,742
= 2,742
10 Al SXAEEE 22X 2,742 0 2,742
gits 212 2,742
[ 2,742
Y= 1,596,000 1,596,000 0
= 452,400
s 73,080
Al 1,070,520




2A: JEEXIE
B ojals
&l SotEe # X EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SMEH & K& 1,596,000 1,596,000 0
= 452,400
T 73,080
Al 1,070,520
Hote 0123 K& 696,000 696,000 0
= 452,400
T 73,080
Al 170,520
301 LB F 694,000 2,000 692,000
= 451,100
& 72,870
Al 170,030
01 AISIBEH 2GS (2 RETME) 694,000 2,000 692,000
Mok 018 X (H3)
694,000,000& 694,000
= 451,100
& 72,870
Al 170,030
308 AXISHMSOIA 2,000 694,000 AB92,000
= 1,300
& 210
Al 490
13 BI I 2SOICHEH B A X LE AL 2,000 694,000 AB92,000
ot 0183 X (BH2H)
2,000,000& 2,000
= 1,300
& 210
Al 490
EMFASKE 900,000 900,000
301 LPBNF 900,000 900,000
03 MBI 2 & A6 2 (R THEA) 900,000 900,000
SNAFAAZ 900,000
Had Bs 4 =4 1,745,168 1,527,998 217,170
= 42,312
| 229,428
& 91,94
Al 1,381,434
EAE 25 2 g X2 775,349 757,062 18,287
= 42,312
| 229,428
= 91,994
Al 411,615
HAUE g t= optdiol 29 134,642 127,326 7,316




2A:

Hu: Fad 85 9 54
ool HAW 95 9 2 2 A (cre:xigl)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2

7l 67,321
=S 33,660
Al 33,661

101 21AH| 22,360 22,362 YV
Jl 11,180
= 5,590
Al 5,590

03 SRA(RIH )22 U2+ 22,360 22,362 YAV
LU= OO0l SR (2) 212 22,360
Il 11,180
= 5,590
Al 5,590

201 er23| 75,392 68,472 6,920
Jl 37,696
= 18,848
Al 18,848

01 At2teltl 74,060 67,140 6,920

OFCIOl AtR2t2IHI(XtZ X, d2HE

2, ZAHl S) 74,060
) 37,030
= 18,515
Al 18,515

02 S3=gl 1,332 1,332 0
OJtHI0l s=23Hl 1,332
) 666
= 333
Al 333

202 04dl 1,000 600 400
Jl 500
= 250
Al 250

01 =LHA LI 1,000 600 400
OFSHHI0l =LHOH B 1,000
7l 500
[ 250
Al 250

206 M=l 2,400 2,400 0
Jl 1,200
& 600
Al 600

01 MHZH| 2,400 2,400 0
OL2tOI0I M=4l 2,400
Il 1,200




od
i’
oF
uJ

-

KIO

Hlw

A2

A2

5,000
5,000
5,000

220,000

220,000

220,000

HMEE
Ofl &k2h

33,492

33,492

60,000
60,000
60,000
66,000
10,000
10,000

3,000
2,000
1,000

53,000

23,000

30,000

Ofl &F2H

600
600
33,490
16,745
8,372
8,373
33,490
33,490

Il

iy

16,745
8,372
8,373

65,000

65,000

65,000

65,000

40,224

Al
Il

Iy

3,7%
5,660
8,040
2,045
3,273
1,964
46,000
10,000
10,000
4,500
3,500
2,000
3,000
2,000

Al

2,000
1,000
1,000
33,000
23,000
15,000
8,000
10,000
10,000
15,000
15,000

- HyS

- SRA(3) - HIRAEY

S - B

orztaiol
Il

t=
101 e124d|

b

-2z

01 AtR2telb]

oo
O
H
L]
ok
<0
I

H0
Ok

=l

2]

100,000& 10 +2
10,0002 20+ 10

t

AEIRA

ol

X

14 JIEt

(=]

307 212+01™

iy
D

| S XIAt

3

11 Ak

A9,000
29,000

24,000
24,000

307 212t01™




2A:

JEESXIA

B HAE P95 U 54
ool HAW 95 9 2 2 A (cre:xigl)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
11 AR SXAMEEER 15,000 24,000 A9,000
FAE O{SEOE X2 15,000
Hads@s K2 3,733 3,733 0
& 1,120
Al 2,613
307 2I2+01™ 3,733 3,733 0
& 1,120
Al 2,613
11 AMSISXAEEX 3,733 3,733 0
drdxdes K& 3,733
= 1,120
Al 2,613
NS HAE EHODIT SY(HAHLBAL SYFIRS 3,000 4,000 A1,000
)
& 900
Al 2,100
307 212+01™ 3,000 4,000 A1,000
T 900
Al 2,100
1 ABBIZXIA X 3,000 4,000 1,000
HAELUAL 2P
3,000,000& 3,000
= 900
Al 2,100
HAEXIZ AL BIXIXIZ (HAESSHAE XIS AF BIX] X 25,368 51,576 N26,208
2IAIA)
J| 12,684
Al 12,684
307 2I2+01™ 25,368 51,576 A26,208
| 12,684
Al 12,684
11 Al SXAMEE X 25,368 51,576 226,208
O124H| 25,368,000 25,368
| 12,684
Al 12,684
FAEEAIE SA HRIHSH] 15,540 5,760 9,780
& 4,662
Al 10,878
307 212+01™ 15,540 5,760 9,780
T 4,662
Al 10,878
11 Al =SXAMEES 15,540 5,760 9,780
HAGEAIE SAX IS 15,540




2A:

B ZAd 25 U 84
Helr 3449 25 2 2 = N& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 4,662
Al 10,878
FAdRdiad ZAE 25 A 2,700 3,000 A300
= 1,350
Al 1,350
307 gl2to| & 2,700 3,000 A300
= 1,350
Al 1,350
11 ARRIS XA E X 2,700 3,000 A300
ARSI ZAY N2 2,700
= 1,350
Al 1,350
FAEREd ZTAH 5 2 23,000 23,000
307 elztol & 23,000 23,000
11 AMEISXAIEEE 23,000 23,000
FodRMEE ZAH 285 2 23,000
St == Ol SAE 5,000 5,000
307 gl2to| & 5,000 5,000
1 AMEISXAIEEXS 5,000 5,000
StHEE YA 5,000
OO 344 X2 5,000 5,000 0
307 212+01& 5,000 5,000
11 AMRISXAEEES 5,000 5,000
DMK 348 XN 2270
5,000,000& 5,000
HAHMNESEXHE 29 N3 (2EY) 136,166 0 136,166
Il 68,083
Al 68,083
307 @20l & 136,166 0 136, 166
) 68,083
Al 68,083
11 AMISXAIEEX 136,166 0 136,166
a4 oMY, 54 24 29 136, 166
Jl 68,083
Al 68,083
I A XJ(HLEAG=EXHH AFE) 12,667 12,666 1
= 3,800
Al 8,867
307 el2tol & 12,667 12,666 1
= 3,800
Al 8,867
1 AMISXAEEXS 12,667 12,666 1

12,667




2A:

Hu: Fad 85 9 54
ool HAW 95 9 2 2 A (cre:xigl)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
< 3,800
Al 8,867
01 FAE X (FaFag=sXd NINIPSED/ES! 10,680 10,950 A270
bl)
= 3,204
Al 7,476
307 @120l & 10,680 10,950 A270
== 3,204
Al 7,476
11 AMRISXAEEES 10,680 10,950 A270
FAEMESAEE SAL M LIHEH] 10,680
< 3,204
Al 7,476
Ots 44 Oisd=s K2 A 9,000 9,000 0
= 2,700
Al 6,300
307 el2to| & 9,000 9,000 0
S 2,700
Al 6,300
11 AMISXAIEEX 9,000 9,000 0
Ols - E4E OISgEs X2AE 9,000
== 2,700
Al 6,300
HAESEHA T2 24,020 1,736 12,284
Il 12,010
== 12,010
307 elztol & 24,020 1,736 12,284
Il 12,010
< 12,010
1 AMISXAIEEXS 24,020 1,736 12,284
FAESER ALY 24,020
Il 12,010
= 12,010
st S Fad X 88,643 85,500 3,143
Jl 62,080
Al 26,593
307 glztol & 88,643 85,500 3,143
Jl 62,050
Al 26,593
11 AMEISXAIEEXS 88,643 85,500 3,143
St 9 Fad X3 88,643
) 62,050
Al 26,593




2A:

B HAE P95 U 54
ool HAW 95 9 2 2 A (cre:xigl)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
st g HAU X2(24]) 17,710 11,3% 6,314
= 7,122
= 3,466
Al 7,122
307 QIZ2t01 A 17,710 11,3% 6,314
= 7,122
= 3,466
Al 7,122
11 AMSIESXAEEX 17,710 11,3% 6,314
s 9 HAW SAXY(DSE) 7,710
= 7,122
& 3,466
Al 7,122
Ol HAE XA (8w % HAEXALE AMSE= 18,000 8,164 9,836
= 5,400
Al 12,600
307 QIZ2t01 A 18,000 8,164 9,836
= 5,400
Al 12,600
" ASI=SXAIEEE 18,000 8,164 9,83
St S HAEXJAEEH AtY =& 18,000
& 5,400
Al 12,600
Il HAE XA (8 % HAE NALASIHE) 26,800 30,431 A3,631
= 8,040
Al 18,760
307 gI2tol ™ 26,800 30,431 A3,631
= 8,040
Al 18,760
11 Al SXAMEE R 26,800 30,431 A3,631
St 8 HAY MAASIHE 26,800
& 8,040
Al 18,760
FaE SEXE ALY 10,400 6,500 3,900
J| 7,280
Al 3,120
301 LB F 10,400 6,500 3,900
| 7,280
Al 3,120
01 A 2&ASH 2 (FREETR) 10,400 6,500 3,900
ESENSIESE= N 10,400
| 7,280
Al 3,120
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A JEEXE D

Hu: Fad 85 9 54
Chel: HAUSHALE &5 2 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Fhd2 29 174,164 198,069 A23,905
308 XHXIEMSOIH 171,164 173,869 A2,705
18 SIS0t 4 A AS A 171,164 173,869 A2,705
Fidsdd 29 171,164
403 AXIEHMSAH=01d 3,000 14,700 A11,700
02 ST 2SOt =2 A P E A I 3,000 14,700 A11,700
Fidrddt 25 7Y 3,000
oI OIFEIE T
1,500,000 «2H 3,000
BAHEAE JISEY 53,000 30,000 23,000
401 AIEHIL L] 53,000 30,000 23,000
01 A&t 53,000 20,000 23,000
HAELEE JISRA(AYNE $4X
ZAH 53,000
FEHE Ols E= 13,431,513 13,316,454 115,059
= 3,245,719
[ 1,028,582
Il 213,242
== 2,684,341
Al 6,259,629
Ots=X S8 8,813,386 8,737,425 75,961
= 3,240,399
[ 184,756
Il 213,242
== 1,982,989
Al 3,192,000
Ors=< A& 4,015,287 4,348,874 A333,587
= 2,810,701
S 602,293
Al 602,293
301 EtE NS 4,015,287 4,348,874 A333,587
= 2,810,701
= 602,293
Al 602,293
01 Al EE A S (2 RDEXMR) 4,015,287 4,348,874 A333,587
Ots+=g20HA= 4,015,287
= 2,810,701
= 602,293
Al 602,293
d=I|=+E 831,978 1,063,220 N231,242
= 415,989
Al 415,989
301 EtE NS 831,978 1,063,220 N231,242




SA X2
3 HAAS Ots 2
el Ols=EX & (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 415,989
Al 415,989
03 AR 2EHFS(XLHE) 831,978 1,063,220 N231,242
=S¢ N2 831,978
= 415,989
Al 415,989
OS2 EXEAT MAHMBHEX 497,568 215,882 281,686
= 348,298
= 44,781
Al 104,489
301 EtE N = 497,568 215,882 281,686
= 348,298
< 44,781
Al 104,489
01 AR E2EHSFS(RNEERTHE) 497,568 215,882 281,686
OLSEEL A A 497,568
= 348,298
< 44,781
Al 104,489
240t sS4l X3 1,964,781 1,676,448 288,333
Jl 177,542
== 313,654
Al 1,473,585
301 22N = 1,964,781 1,676,448 288,333
Il 177,542
=S 313,654
Al 1,473,585
01 Al EE AL S(FREXMH) 1,964,781 1,676,448 288,333
240t S48l X 1,964,781
Jl 177,542
= 313,654
Al 1,473,585
SIS E2ssE oS4l NE 405,000 360,625 44,375
== 405,000
301 EtE N = 405,000 360,625 44,375
= 405,000
02 MBI 2HHSFHS(HAANS, XLHE) 405,000 360,625 44,375
s &.2.3%4 @48 A= 405,000
= 405,000
012l01=0l8 224 10,000 2,000 8,000
201 223 10,000 2,000 8,000
02 S22l 10,000 2,000 8,000
Oglol=0Ie B 10,000




SA X2
M HoHE Ol ©5
el Ots=A S8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Olelole At 60,000 52,000 8,000
201 er23 | 58,000 50,000 8,000
01 At2teltl 3,000 5,000 /2,000
HI & NH=EELY S 3,000
03 A= SHI 55,000 45,000 10,000
Ogloled AMEAHl S 55,000
301 EtE NS 2,000 2,000
11 AALAHIXIES 2,000 2,000
AR S AR =2l 8,000 +250H *13] 2,000
OtsZ 3t Al AHHH 13,000 25,000 212,000
201 er2 3| 13,000 25,000 A12,000
01 At2t2lt] 3,000 10,000 /7,000
Olsdclus A 60,0003 *502] 3,000
03 A= SHI 10,000 10,000 0
Olelol 4l HE EE3 10,000
Ols 344 232 12,000 12,000 0
201 fer=3| 12,000 12,000
01 AtR2t2|H] 2,000 2,000
2ot =2H| 2,000
03 A2 I 10,000 10,000 0
AdE & UF 10,000
CIEH SsS A 317,512 285,936 31,576
= 158,756
[ 79,378
Al 79,378
307 glztol & 317,512 285,936 31,576
s 158,756
s 79,378
Al 79,378
10 Al2ISTIAEEE2HIEX 317,512 285,936 31,576
CHeti Ss4dE ezl 317,512
= 168,756
= 79,378
Al 79,378
CHEN Ss4dE 2g8] X 52,000 48,000 4,000
= 26,000
= 13,000
Al 13,000
307 @120l & 52,000 48,000 4,000
[ 26,000
= 13,000
Al 13,000




SA X2
3 HAAS Ots 2
el Ols=EX & (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 Al SXAIEEHE2EHI2x 52,000 48,000 4,000
CielssSdE 284 N2 52,000
= 26,000
< 13,000
Al 13,000
CIEtHSSHE SALG HHSAHl X 3,780 3,000 780
= 1,134
Al 2,646
307 el2to| & 3,780 3,000 780
= 1,134
Al 2,646
10 AlISXAZEE 22X 3,780 3,000 780
CIEHESSHEH SAHL ddgaH N3 3,780
s 1,134
Al 2,646
CIEtHSSHE SAG MMl X2 8,100 7,200 900
S 2,430
Al 5,670
307 elztol & 8,100 7,200 900
= 2,430
Al 5,670
10 Al SXAAEEHE 22X 8,100 7,200 900
CHENESHE SALA MLl X2 8,100
S 2,430
Al 5,670
CIENESSHE 22 (XHA) 143,860 128,820 15,040
201 =3 8,500 8,500 0
01 At22t2lH] 8,500 8,500 0
28t =2H| 150,000 22 300
dE gxtz 7,000,000& *12]* 100 & 7,000
g2ol3 HHd 100,000 x6 & x22| 1,200
307 @120l & 135,360 120,320 15,040
1 AMISXAIEEXS 135,360 120,320 15,040
CHENESsSHE 29 135,360
—=S2tAl| 103,500
-2l 16,200
“SAMNA H==g 15,660
SHE 2S4S 2dEt 146,520 146,520 0
=S 73,260
Al 73,260
307 @I2t01 & 146,520 146,520 0
< 73,260




SA X2
M HoHE Ol ©5
el Ots=A S8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 73,260
11 AMEISXAEEXS 146,520 146,520 0
EHE =&Y 2= S5 146,520
-AtHI 93,248
< 46,624
Al 46,624
-1 21| 48,280
= 24,140
Al 24,140
-=2&H| 4,992
s 2,4%
Al 2,49%
25EE0ts MHE=E 72,000 96,000 24,000
= 57,600
=S 4,320
Al 10,080
301 EtE NS 72,000 96,000 24,000
= 57,600
= 4,320
Al 10,080
01 Al EE A S (2 RNEXMA) 72,000 96,000 24,000
225E520s ANEE
500,000 x 12« 122 72,000
= 57,600
= 4,320
Al 10,080
gtaiots 25Hl AA 6,000 6,000 0
= 4,200
= 540
Al 1,260
301 EtE N = 6,000 6,000 0
= 4,200
= 540
Al 1,260
01 A2 HSFS(RNEERTHE) 6,000 6,000 0
LAUOtS 2SI
1,000,0002 18«6 6,000
= 4,200
S 540
Al 1,260
2A0LS ISR 51,000 62,900 A11,900
) 35,700
S 4,590




2A: JEEXIE
M HoHE Ol ©5
&©2l: Ols=X &8 EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 10,710
301 LPBNF 51,000 62,900 211,900
| 35,700
& 4,590
Al 10,710
01 AISIBE XS (2 RETME) 51,000 62,900 211,900
AA0ls LmE 200,000 x 19K« 122 45,600
J| 31,920
= 4,104
Al 9,576
Q£YII 2T K
700,000 18 %13 700
J| 490
= 63
Al 147
Q2| = 2,700,000 *13] 2,700
J| 1,890
T 243
Al 567
A A=0l= 2,000,000 *1H 2,000
J| 1,400
= 180
Al 420
SEEL gL=oa AR 1,000 1,000 0
& 300
Al 700
301 LPENF 1,000 1,000 0
T 300
Al 700
02 MBI 2EHE S (HUAHS, NSTHA) 1,000 1,000 0
2 2A=35l= 1,000,000 *1H 1,000
= 300
Al 700
2SEZ0ts NEEHES 60,000 60,000 0
& 18,000
Al 42,000
301 LPENZ 60,000 60,000 0
& 18,000
Al 42,000
2 AN BEA>HS(HUHS, NYHA) 60,000 60,000 0
E33=20ts NEEHEZ
10,000,000& +6H 60,000
= 18,000




SA X2
M HoHE Ol ©5
el Ots=A S8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 42,000
PSEZ0tS Usrdgetdis A 6,000 12,000 26,000
== 1,800
Al 4,200
301 2eEN= 6,000 12,000 26,000
< 1,800
Al 4,200
02 MBI 2HHSFHS(HAANS, XLHE) 6,000 12,000 26,000
Usraigotdit=s 2,000,000 +3% 6,000
= 1,800
Al 4,200
HERAEOISESES Y A 1,000 1,000 0
= 700
== 0
Al 210
301 EtE N = 1,000 1,000 0
= 700
< 0
Al 210
01 A2 HSFS(RDNEERTHE) 1,000 1,000 0
ots=3S-4ll 1,000
= 700
< 0
Al 210
d20ts2sH K& 27,000 15,000 12,000
= 18,900
== 2,430
Al 5,670
301 2eEN= 27,000 15,000 12,000
= 18,900
=S 2,430
Al 5,670
01 Al EE AL S(FREXH) 27,000 15,000 12,000
LARE OIS d20ISESH]
1,000,000 *1H 32 3,000
= 2,100
S 270
Al 630
HELE0lEs d=0IS2SH]
1,000,000& x2E 12 24,000
= 16,800
=S 2,160
Al 5,040




SA X2
M HoHE Ol ©5
el Ots=A S8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A 2=l 108,000 108,000
301 LEtE N = 108,000 108,000
02 ARSI 2EH 2GS (HAAHS, W) 108,000 108,000
HEAE &=hl 300,000& 308 * 1201 & 108,000
OlS=XIAIE XI& 4,089,387 4,068,964 30,423
= 5,320
s 490,706
== 674,868
Al 2,918,493
OtS=XIWAF ItA XI& 53,962 106,488 N\52,526
= 26,981
= 8,004
Al 18,887
101 21AH| 53,962 106,488 N\52,526
[ 26,981
= 8,004
Al 18,887
03 SRA(RIH )22 U2+ 53,962 106,488 N\52,526
OtS=XIWAL Q1 24HI(4H) 53,962
[ 26,981
= 8,004
Al 18,887
OtsS=SXIWAL oA X2 (XHAI) 38,580 36,202 2,378
101 @12A4H| 37,780 36,202 2,578
03 SRH(RIH )22 U2+ 37,780 36,202 2,578
OtsSXI WA AR 37,780
-&0= 17,500
-S&NEY 12,480
OiEsg 1,800
-Al2telag 1,900
IRt 4,100
202 04| 800 1,000 A200
01 =LHO LI 800 1,000 A200
EpGl] 10,0002 * 1802 800
KNS 0tsHE 249Hl K& 158,088 168,508 A420
= 79,044
< 23,713
Al 55,331
307 212+01& 158,088 168,508 A420
= 79,044
=S 23,713
Al 55,331




SA X2
mH: HoHE Ol ©5
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 168,088 158,508 A420
NS0tsSdE 288 XI& 168,088
= 79,044
< 23,713
Al 55,331
KS0tsHE 2lAH| K& 754,962 634,608 120,354
= 377,481
< 113,244
Al 264,237
307 212+01& 754,962 634,608 120,354
= 377,481
=S 113,244
Al 264,237
11 ARRIS XA E X 754,962 634,608 120,354
A S0tsSHE ol2i8| XA 754,962
[ 377,481
= 113,244
Al 264,237
SdE XNE0tsdH FIHE 14,400 41,040 N\26,640
[ 7,200
= 2,160
Al 5,040
307 gl2to| & 14,400 41,040 A\26,640
[ 7,200
= 2,160
Al 5,040
11 AMEISXAEEXS 14,400 41,040 N\26,640
S+=5g FIHIE 14,400
= 7,200
< 2,160
Al 5,040
XSotsHlE XI&(<Hl) 39,540 38,670 870
= 7,908
Al 31,632
307 gl2to| & 39,540 38,670 870
=S 7,908
Al 31,632
11 ARRIS XA E X 39,540 38,670 870
XHotsHIE X2 (&HI) 39,540
< 7,908
Al 31,632
OLSSXIAIE 21Ad] =K 142,457 185,782 AN13,32%5
= 42,738




2A: JEEXIE
mH: HoHE Ol ©5
l: OFS=XIAIE X (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 99,719
307 212+01™ 142,457 155,782 A13,325
T 42,738
Al 99,719
11 AMSIESXAEEX 142,457 165,782 A13,325
XNSEotsHE 2148 FOHKIA 142,457
= 42,738
Al 99,719
KSotsHEe SAXCIA XA 54,000 54,000 0
307 212+01 A 54,000 54,000
11 AR SXAMEES 54,000 54,000
XNE0otsHEH A XelAt XA
500,000& *QIH A+ 122 54,000
K& otsHE! XIS (XA 15,800 15,800 0
307 212+01™ 15,800 15,800
11 AMSIESXAEEXR 15,800 15,800
XNSEotsSHE A XSS 5,000
NIS{OISMEl T2 08 S|
100,000& *QH 2+ 12& 10,800
ZHE0ls X 7,600 10,800 A3,200
= 5,320
= 684
Al 1,5%
307 212+01 A 7,600 10,800 A3,200
= 5,320
& 684
Al 1,5%
11 AR SXAMEE R 7,600 10,800 A3,200
ZAN Xsots NHEXH 7,600
= 5,320
T 684
Al 1,5%
Ots=XAd2Y 2,432,483 2,447,165 A14,682
= 364,873
Al 2,067,610
307 2I2+01 A 2,432,483 2,447,165 A 14,682
& 364,873
Al 2,067,610
10 Al =S XA EEER2IHIE X 2,432,483 2,447,165 A14,682
OtsL=EAld 22| 2,432,483
& 364,873
Al 2,067,610
OtsS=XAIESAA HRIMAHI 124,350 114,410 9,940




SA X2
mH: HoHE Ol ©5
l: OFS=XIAIE X (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 37,306
Al 87,045
307 lztol & 124,350 114,410 9,940
= 37,305
Al 87,045
10 Al SXAAEEHE2EHI2x 124,350 114,410 9,940
OLSSXIAIE SAEL M08 124,350
= 37,305
Al 87,045
OLS=SAIAESAEL HHg A 56,280 40,800 15,480
< 16,884
Al 39,3%
307 212+01& 56,280 40,800 15,480
& 16,884
Al 39,3%
10 Al SXAIEEHE 22X 56,280 40,800 16,480
OLSSXIAIE SAEL Az AHl X 56,280
= 16,884
Al 39,3%
OrsdEoty K& 89,612 89,612 0
s 26,883
Al 62,729
301 EtE NS 20,880 20,880 0
< 6,264
Al 14,616
02 MBI 2HEHSFHS(HAANS, KLHE) 20,880 20,880 0
8 RIE B3| Fot
60,0002 x29E 123 20,880
= 6,264
Al 14,616
307 gl2to| & 68,732 68,732 0
=S 20,619
Al 48,113
11 ARRIS XA E X 68,732 68,732 0
Olsdeery XI|(ZE) 68,732
[ 20,619
Al 48,113
otsstsetd AE 70,273 70,273 0
= 21,082
Al 49,191
307 el2tol & 70,273 70,273 0
= 21,082
Al 49,191




SA X2
3 HAAS Ots 2
el OlssEXAE X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 70,273 70,273 0
OtsSeIEEZ R (Z) 70,273
= 21,082
Al 49,191
OlSEAMEY NE 31,000 28,806 2,1%
s 9,300
Al 21,700
307 21201 & 31,000 28,806 2,194
< 9,300
Al 21,700
11 AMEISXAEEES 31,000 28,806 2,194
OlsEANEY X3 (Z22) 31,000
S 9,300
Al 21,700
OlSLFAIE SAL 28ge 22 6,000 6,000
307 el2to| & 6,000 6,000
02 2IZHBYAIHE £ 6,000 6,000
SAHAF 8 500,000 %12 6,000
LSSt 333 A I 103,900 98,665 5,235
[ 61,408
= 4,606
Al 37,886
oSSt B33 Alg X1 27,140 23,465 3,675
101 21A4H| 14,140 13,305 835
03 SR (RIH )22+ 14,140 13,305 835
Olss&Hi B33AtY QIAHI(BRA) 14,140
-0 6,700
-S4NEY 2,960
-Al2te =& 2,680
-AXt=g 1,800
202 04| 5,000 2,160 2,840
01 =LHOLI 5,000 2,160 2,840
=Z0| 5,000
301 LEIE NS 5,000 5,000
03 AR 2HHFS(XILHE) 5,000 5,000
SICHIIOHOlS 2AIE2S 24| 5,000
307 el2tol & 3,000 8,000 25,000
012z & 2=Hl 3,000 3,000 0
SIHTIcH(2la)ots X2l & SAHI 3,000
olsEsdd 76,760 75,200 1,560
[ 61,408
= 4,606




2A: JEEXIE
mH: HoE Ol ©5
Cel OIS 223 Al XI” (12l M2
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 10,746
101 2124 66,760 65,200 1,560
= 53,408
& 4,006
Al 9,346
03 SR (RIHL) 22X 66,760 65,200 1,560
OtsEsdEA 2124d| 66,760
s 53,408
= 4,006
Al 9,346
201 B2 AY| 7,000 7,000 0
= 5,600
= 420
Al 980
01 AtR2telt] 7,000 7,000 0
J22Z| 7,000
= 5,600
T 420
Al 980
301 LPENZ 1,000 1,000 0
= 800
T 60
Al 140
01 AISIBE A 2GS (2 LEZME) 1,000 1,000 0
2SHa0ls 2ERES S 1,000
ax 800
T 60
Al 140
307 QIZ2t01 A 2,000 2,000 0
Ay 1,600
T 120
Al 280
01 9z & 3=l 2,000 2,000 0
2350ts XIzHl Y ZAtH| 2,000
= 1,600
& 120
Al 280
SEXN(EEAEIE) 424,840 421,400 3,440
= 291,712
& 21,878
Al 111,250
XS SEAEE SetAtdl2tel X3 364,640 361,200 3,440
= 291,712




SA X2
3 HAAS Ots 2
Eel: OFS=EXI(SZAEE) (CHe: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 21,878
Al 51,050
101 @124H| 166,440 163,000 3,440
= 133,152
== 9,986
Al 23,302
03 SRA(RIH L) 222+ 166,440 163,000 3,440
At Zt2I AL @1 24H| 166,440
= 133,152
=S 9,986
Al 23,302
201 223 119,200 123,000 23,800
= 95,360
=S 7,182
Al 16,688
01 AtR2te|HI 73,200 77,000 23,800
Slol=E & TRl S 73,200
[ 58,560
= 4,392
Al 10,248
02 s3=gHl 6,000 6,000 0
E32= & MAl 6,000
[ 4,800
= 360
Al 840
03 A= 40,000 40,000 0
Hesls € RRUSE S 40,000
[ 32,000
= 2,400
Al 5,600
202 04| 4,000 4,000 0
[ 3,200
= 240
Al 560
01 2L AL 4,000 4,000 0
=30l S 4,000
[ 3,200
= 240
Al 560
301 EtE2 NS 55,000 52,200 2,800
[ 44,000
= 3,300
Al 7,700
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Hu: S™2 AR (OISR
SCRIPIEE

2 s IE]
SA - HY - S9I(3) - HIRAY - BAS ofl & e
204 APt AH| 1,200
2 S3L=34l 1,200

Olssitl ¥ 3R 1,200




